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Tén:_ Ngaythang:_ Piém:__
2x10° = 4,03 x 10* =
-2x10° = 10 =
8,44+ 10° = -2 x 10* =
1 x 10 = 3x10° =
6,29 x 10 = -3 x 10" =
10* = 10° =
10° = 2x10° =
1x10° = 9x10° =
2,63+ 10" = 7x10% =
10% = 10° =
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Tén:

2x10° =2

—2 x 10° = 2000
8,44 + 10* = 0.0844
1x10=10

6,29 x 10 = 62.9

10* = 10000

10° = 1000

1 x 10° = 100000
2,63 + 10* = 0.000263

10> = 100

Ngay thang:
4,03 x 10* = 40300
10 = 100

—2 x 10* = —=20000

3 x 10° = 3000
-3x10°=-3

10° = 1000000

2 x 10° = 200000

9 x 10° = 900000

7% 10% = 700

10° = 1000000
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Piém:
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